ﬂaa,p Caw«{y&;c Mmém @ have the [ﬁ"""’\ z:a-c—é{ (,..r\"{'é\ a,éé—/ﬂ,
o= Polz) and b=Twlz). HArthoaake ay«cm/ﬁ’mx cam ba wed |

and  Euse have the ws wed /9/ o lad hes, Cannot J&f»b\.z_ o~ Sonscbla
c')\folJU\tAﬂ on C/ ﬂxbuﬁb\. Tlul Cow\(zl)c. /7[0«\-2 a,,\a(_ POZA,- JQ(W\@ ’
z = (‘LCcS O+ 4 S(w@) . v 1S the Wloo(»s[u.s [z( og Zz av\o( ()

{'lg\Q. ofﬁwwzvvé aﬁa%- ‘TB wu(}'—\f{a {L\m Cowr;Qg_y; y\uwé..z/)/ m“[{-(/b]ff
f(L/\Q, MAOC&/«[{ awaé AJJ %Q oﬁuw\en‘{'fﬂ

¢ (L[ = 1 aV\Ol CU‘CA( ‘t') :’% So MQL&IV«LM_AQW [73 'l %)
e some 2t mfehon (ankedoeliise ) l”@ Th

— . +
\«221 — { a~d NS 22 — wﬁz + LTt —ag 27 er“e\_z -z
tr = o . 6

So Z%G{KO\AC{ 2%20

NONTS ML'S(V\S b thae 1700/%[‘ ne N < \X\Aﬂ‘ J{yQaM mw(’l‘(r(&cm[\'an?
Theare o 34 (@& Mo tvnd's ﬂecmzu,\)

for sd M€ a~d 2l Be(t



—_—

we howe  (cos B + £3(V\@-)V\ =

cos(n®) £ (sinlnd).
M Let 2 = ¢SO 4 (i@ . T lzl=1 ad w3%=@~
Ty, 12%1= [2("= "= (, and arg(2%) = waqz = w8,
Quaslio. @ What are the Solufins o the Q%&(\'ov\ z"=1 e
( so-called vk Jg w\((wj“)? (n € the sleKas ot z =1 cdic

n s odd aw\o( z= £ o s 2wen (w € "’Qﬂu- mnﬂ
Mo N So[uvl‘\omg,

Leb 2= ¢ (cos & & {8ind)  Tarn 2" = " (cos®)* {sin(n8)
,:04‘ ZV\:'(

ﬂM«S v = am,[ n® = LT

Sou~n M € (M Co the
Mymlwl‘ @ WUAS{' LL JJ &L ﬁﬁt:\fov\ = ks
[ S W\V\Aosr\& Z = c¢oS el

T T a -
AN
< (Sw ._v/?‘ fb\ﬁ m=0,1{ 2
(V.c—}ca\w\toau'. Sodek ans %b 2%: {7

pe naed M (ess (n8) « 158n (18)) = 1 (o5 0« T5in0)

1) r'"/V\-('
m.= 0O coS O + isin 0 = f
m= {

LT '
cos T4 (shgy = o



\
m o= 3 Cog%lt*ts(wz%: — )
[W\:‘? z= 4.7 /\
3 ) ~ L
60&'{‘{0\:\5 an Z = {
;M =0 2= ¢cos 0 «+ {sin0 = 1 ~
M. = E = ¢ S?;T—(- S (Ii-t — ._,i 'AE'
o 2 -+ \$\V\z = 7_-(-—ZL
- om=C Z‘“Co&@»(-;ﬁvx%r:~ji—*§{
2
'[‘f'«’l: Z=o=s‘7_1t—‘-is(\/\2t\-:(1 G
_L.(.Ez %
7+ 4
Z T\
(IJQ (QZOAA.LQ ['&kf 'zy\::( L\OS Q?C&C/(’lj \ -4 \
Soluk ' /A {
obutions tn Cowplaje Aumber. 1 s
y T 3
A 4, |77
F‘MV\JAW*QV\'(K( ﬂ\WQUA Qﬂ, 4( me, z LL

Fwa (!o(ﬂuxowt(ci Qﬁl/mow(\t/vx Oj c[n.OJ\LQ__ n



a,E o, 2" Ll e,z ca, = O ) has exacﬂn

nowt in €, comchd accading fo welbplicthy; thadt is,
P(%) = (z_xl)(%—xt) e (- ) = 0,

fw/ Soma ol Ay - - o, € €.

Wo shkoted 'ﬂ]é 63 ali{u\jﬁ) o numlor S&Sku« the Solulion

to a pev b coden ‘Q;V”MZ{W\ 2 e (= o, and J\&\J that we

o ;\ow sdve ewj po%s«o‘wf@( QoV/\a“é')'OVL‘/




